ARMY BURN HALL COLLEGE FOR BOYS
Entry Test Model Paper — Class 5th

SUBJECT: ENGLISH

Time: 30 Minutes Maximum Marks: 20

ATTEMPT ALL QUESTIONS

Q.1 Encircle the correct option.

i. He is orphan

A. the B. an C. a D. none of these

ii. Select the correct plural form of calf:

A. calfs B. calfes C. calves D. calf

iii. ladies are not Pakistanis.

A. This B. That C. These D. none of these
iv. My friend isgood __ playing football.

A. in B. at C. on D. for
V. She has been working there __ two years.

A. since B. from C. within D. for

Q.2 Fillin the blanks with the correct option.

a. More than five persons signed the complaint. (has/have)
b. The sun in the east. (rise/rises)

C. I him last week. (meet/met)

d. He has two brothers, of them has a car. (both/each)

Q.3 Write down the opposite gender of the given nouns.

a. fox b. lady C. waiter
Q.4 Use the given words in sentences.

a. interesting  b. carefully C. arrange
Q.5 Write down the plurals of the following singular nouns.

a. butterfly b. thief C. life

Q. 6 Translate the following sentences into English.

FESde i Slee bloi$¥ i s LIl

Q.7 Write an essay on any one of the following topics.

(a) Importance of Trees (b) Cleanliness
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Time: 30 Minutes

ARMY BURN HALL COLLEGE FOR BOYS
Entry Test Model Paper — Class 5th

SUBJECT: MATHEMATICS

Maximum Marks: 20

Q.1

Q.2
Q.3

Q.5

ATTEMPT ALL QUESTIONS

Encircle the correct option.

i. Two or more fractions that are same after simplification are called
fractions.

A. proper B. common C. equivalent D. simple

. When two or more numbers are multiplied together is called:

A. factors B. multiples C. product D. divisor
iil. Write all the factors of 12:

A. 1,12 B. 4,312 C. 3,6,12 D. 1,2,3,4,6,12
iv. How many years are there in 1 decade?

A. 11 years B. 10 years C. 9 years D. 8 years
V. The lines which keep going straight and never meet each other are called:

A. horizontal lines B. vertical lines

C. non parallel lines D. parallel lines

8 8 5

Solve: P X 3 11 X =

The capacity of a pack of juice is 3.4 litres:

i. What is the capacity of such 7 packs?

. If the capacity of a pack of juice is 2.8 litres, what will be capacity of 5 packs?
The height of K-2 is 8 km 611 m and Mount Everest is 8 km 848 m.

i. What is the difference between and heights of the mountains?

. What is the total height of the mountains?

Draw the angles of given measurement:

i 135° i. 70°
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